
SECTION 2-8

1. For each problem below, you are given the graph of f(x). You must sketch the graph of f 0(x) on the axes

below.
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2. For each problem below, make your own sketch of f(x) and use it to sketch f 0(x).

(a) f(x) = |x|

(b) f(x) = lnx
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3. The derivative of f(x) = x1/3
is f 0(x) = 1

3x2/3 . Explain why f does not have a derivative at x = 0 but it does

have a tangent line at x = 0.

4. For the functions in parts 1 and 2, draw f 00(x), the derivative of the derivative (or the second derivative).
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